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1. つぎのことをしきにあらわしましょう。

(1) 593は 500と 90と 3をあわせた数です。
593= 　　　　 + 　　　　 + 　　　　

(2) 464は 400と 60と 4をあわせた数です。
464= 　　　　 + 　　　　 + 　　　　

(3) 543は 500と 40と 3をあわせた数です。
543= 　　　　 + 　　　　 + 　　　　

(4) 431は 400と 30と 1をあわせた数です。
431= 　　　　 + 　　　　 + 　　　　

(5) 734は 700と 30と 4をあわせた数です。
734= 　　　　 + 　　　　 + 　　　　

(6) 222は 200と 20と 2をあわせた数です。
222= 　　　　 + 　　　　 + 　　　　

(7) 274は 200と 70と 4をあわせた数です。
274= 　　　　 + 　　　　 + 　　　　

(8) 922は 900と 20と 2をあわせた数です。
922= 　　　　 + 　　　　 + 　　　　



[こたえ]

(1) 593=500+90+3 (2) 464=400+60+4 (3) 543=500+40+3 (4) 431=400+30+1
(5) 734=700+30+4 (6) 222=200+20+2 (7) 274=200+70+4 (8) 922=900+20+2


